2° 10 BALL STEEL ROLLER
W/5° STEM (MIN)
W/ BOLT RETAINER USED FOR

NON THREADED SHAFT 3 5/8° X 22 GA.

(3.5° R-TRUSS)

2" THICK
14GA. (MIN) CENTER HINGE ATTACHED

13 GA. <MIN) GALV. COMMERCIAL TOP ROLLER BRACKET

ATTACHED WITH <4) 1/4" x 3/4"
HEX HEAD UNIV. SCREWS PER BRACKET.

ADJUSTABLE SLIDE BRACKET IS ASSEMBLED

WITH (2> 5/16” x 374’ BOLT & NUT PER BRACKET.

3 5/8" X 22 GA. (3.5" R-TRUSS)
GALV. STEEL R-TRUSS ATTACHED
W/ (4> 174" x 3/4° HEX HEAD
SCREWS AT EACH END STILE AND
@) 174" x 3/4" HEX HEAD
SCREWS AT EACH CENTER STILE
ON TOP SECTION

14 GA. <MIND GALV. STEEL
ROLLER HINGE ATTACHED
WITH <6) 1/4* x 3/4°
HEX HEAD UNIV. SCREWS

3 5/8” X 22 GA, (3.5 R-TRUSS)
GALV. STEEL R-TRUSS ATTACHED
W/ (3) 174" x 3/4° HEX HEAD
SCREWS AT EACH END STILE AND
@) 1/4° x 3/4° HEX HEAD
SCREWS AT EACH CENTER STILE
ON BTM AND INT SECTIONS

(1) 2° X 20GA STRUT ON

BOTTOM PANEL ATTACHED W/ (2)
1/4* x 3/4° HEX HEAD SCREWS
AT EACH END STILE AND &
174" x 3/4" HEX HEAD SCREWS

AT EACH CENTER STILE
13 GA. C(MIND GALV. STEEL

BOTTOM BRACKET
I~ ATTACHED W/ <3 1/4° x 3/4°

HEX HEAD UNIV. SCREWS

ONT. ALUM. EXTRUSION
WITH CONT. VINYL ASTRAGAL

TYPICAL END HINGE

14 GA. CMIND

END HINGE ROLLER
CARRIERS ATTACHED

W/ <6 TOTAL 1/4* x 3/4°
HEX HEAD SCREWS

(3) SCREWS UPPER LEAF
(3) SCREWS LOWER LEAF

7° x 16 GA. ENDCAP ATTACHED
WITH FASTENERS USED FOR
HARDWARE AND R-TRUSS.
USED UNDER END HINGES [N
BOTTOM AND INTERMEDIATE
SECTIONS ONLY

©,

2’ 20GA. STRUT

13 GA, (MIND GALV. GALV. STEEL R-TRUSS ATTACHED W/ A TOTAL OF ¢5) 1/4° x 3/4° <N
COMMERCIAL. TOP ROLLER 3 " . W/ (@) 174" x 3/4° HEX HEAD HEX HEAD SCREWS
BRACKET ATTACHED W/(4) 5/8° X 22 GA. (35" R-TRUSS) SCREWS AT EACH CENTER STILE 2 SCREWS IN THE TOP LEAF -
S ; GALV. STEEL R-TRUSS ATTACHED
174° x 3/4° HEX HEAD L J 2> SCREWS IN THE BOTTOM LEAF
SCREWS PER BRACKET W/ <4 174" x 3/4° HEX HEAD <) SCREW IN THE BOTTOM LEAF
SCREWS AT EACH END STILE ON THRU R-TRUSS
TOP SECTION -
TYPICAL TOP FIXTURE 1 TYPICAL CENTER HINGE 8 “+
N.T.S. N.T.S. .
24 GA. ¢022° MINY OR 20 GA ]
A (G—60 MIN) PREPAINTED STEEL\ :
=A . . . ko OPTIONAL POLYSTYRENE
f : : : 4 INSULATION WITH HAIRCELL OR
: . . A _ : STEEL BACKER <I AND S MODELS)
24° 'Max == e ————
SECTION HEIGHT W : ‘ . ¥
. 1 3 P, b, .
§ [ [ [ ]
1 — = i
%) o o . 51
=] = =
=
- . . . .
: U. u- ul . '
. . ke e .
[] ] ) \ [ 4
ni“! - by = LEd =
. . . . : SLIDE LOCK ENGAGES -h
. . . . . VERTICAL TRACK ON EACH SIDE
L L L (SNAP LATCH, OR LOCK BAR OPTIONAL) -
] : . . T ATTACH W/ 1/4° x 3/4° S
. . . HEX HEAD SCREWS
$ ] [ [} §
I :
| z x : i SECTION A—A (SIDE VIEW)
o i i 4 q
| g
i ; : ; ;
SEE TABLE2 ONPAGE 3| | A N
FOR CENTER STILE 27 10 BALL STEEL ROLLER
LOCATION DETAILS W/5* STEM (MIN)
9/-2* (MAX) W/ BOLT RETAINER USED
FOR NON THREADED SHAFT
INSIDE ELEVATION
N.T.S. :
3 5/8° X 22 GA. (35
R-TRUSS) GALV. STEEL
R-TRUSS ATTACHED W/ (3
c 1/4'TxE3/4' HEX HEAD
: SCREWS AT EACH END STILE
(3> 18 GA. CENTER STILES
ATTACHED WITH ¢2) CLINCHED ON BTM AND INT SECTIONS
JOINTS OR RIVETS AT THE YELC
TOP AND BOTTOM RAIL AND TS
JAMB SEAL
OPTIONAL (2 7O INTERIOR FACE AT 5/16° x 1 5/8° LAG
18 GA, GALV, STEEL END STILE SCREW (1) PER
ATTACHED WITH <7> CLINCHED 1 J JAMB BRACKET
JOINTS TO DOORS SKIN AND (2

AT THE TOP AND BOTTOM RAIL

2° 10 BALL STEEL ROLLER

ATTACHED W/(2) 174" X 3/4°
HEX HEAD SCREWS AT EACH

LARGE
MISSILE
IMPACT

RESISTANCE

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE WITH THE
PROCEDURES DESCRIBED IN ASTM E330, ANSI/DASMA 108,
DASMA/ANST 115 FLA, BUILDING CODE PROTOCALS TAS
201, 202, 203 WIND LOAD DESIGN CRITERIA, ASTM E 1886, ASTM E
1996 AND ASTM F588. THE PRESSURES SHOWN ON THE DRAWINGS WERE
CALCULATED USING ASCE 7-16 WITH THE FOLLOWING PARAMETERS

(5 FEET OF DOOR WIDTH IN END ZONE, ROOF SLOPE 10" OR LESS):

WIND SPEED (MPH) 218 207 198 190

EXPOSURE LEVEL B C C D D

MEAN ROOF HEIGHT| 30" [ 15" [ 25" | 15" [ 25

REV | DESCRPTION OF REVISIONS DAE  [BY
MAX_SIZE 5
WIDTH 92" | &3 X
HEIGHT 241" | §8 ORI, N
RS Pt A 2
i AT oty 8
sE Fu7 U
=T P ‘* s . * ' 5
Ex g *s sk
+50.0 PSF | o2 4 227 6
-62.0 PSF | £ It T g
28 ‘ :
FER s 2
B WO d
LARGE MISSILE| 3 € WOSIoNALEN . = 5
IMPACT £ ACCC 0
RESISTANCE | £2 TX 4

v

A

(1) 1/74-20 x 5/8°TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

INTERMEDIA
HINGES 14GA (MIN.)

2" GALV. STEEL TRACK
THICKNESS .083"(MIN.)

3 5/8°H X 22 GA.
(3.5° R-TRUSS)

TRACK MOUNTING DETAIL

N.T.S.

W/5° STEM (MIN)
W/ BOLT RETAINER USED FOR
NON THREADED SHAFT

7" x 16 GA. ENDCAP ATTACHED
WITH FASTENERS USED FOR
ARDWARE AND R-TRUSS.

USED UNDER END HINGES ON
BOTTOM AND INTERMEDIATE
SECTIONS ONLY

27 10 BALL STEEL ROLLER END ANI,) CENTER STILES

W/5° STEM (MIND
W/ BOLT RETAINER USED
FOR NON THREADED SHAFTS

BOTTOM BRACKET

13 GA. <KMIN> ATTACHED
W/(3) 1/4° X 3/4*
HEX HEAD SCREWS

TYPICAL BOTTOM BRACKET 4
N.T.S.

arr

MODEL 2400 AMARR 2402, 2412, 2422 (24 GA)
MODEL 2000 AMARR 2002, 2012, 2022 (20 GA)

SE| DRAWBY  SKW| DA 07/28/08 DRAMNG NUMBER
B[ cecxepsy scw| oAT 07/29/08 IRC-2409-177-21-1
AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 SHEET 1 OF 3




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

ITW BUILDEX 1/4°-14 12 GA. OR 3/16° 1/8° NOM X 1* LONG 174" LONG TACK 2000 PSI MIN. SIMPSON STRONG-TIE 2000 PSI MIN, SIMPSON STRONG-TIE
X 34 CREWS (TEKS) STEEL (SEE BELOW)  FILLET WELD (E6Oxx WELD SAME SPACING ~ CONCRETE EXPANSIGN ANGHOR WITH CONCRETE EXPANSION. ANCHDR WITH
ELECTRODES MINJ AS FILLET WELD A ! : :
— = SHER. 1~3/4°MIN. S 7/8'0 WASHER. 1-3/4°MIN.
—.+] EMBEDMENT T EMBEDMENT
I
; —
2-5/8° THICK 2-5/8" THICK
WALL MIN, WALL MIN.
(15 x EMBEDMENT (15 x EMBEDMENT
CLIP STYLE REVERSE ANGLE MOUNT SHOWN . .
BRACKET, CONTINUOUS AND TAPERED ANGLE ~ REVERSE ANGLE MOUNT SHOWN 3 M. EDGE 3 rancE oE
MOUNT AVAILABLE BRACKET, CONTINUOUS AND
TAPERED ANGLE MOUNT AVAILABLE ~
12_GA_STEEL FRAMING - SRACKET REVERSE AND TAPERED ANGLE MIUNT NEINUOUS_ANGLE MUUNT_SHEWA
232 LBS./SCREW ALLOWABLE LOAD - 3 STEEL FRAMING 12GA OR BETTER AVAILABLE ﬁggﬁ';EleACIU&TgEgUUS AND TAPERED ANGLE
FROM ENDS AND 127 O.C. 1590 LBS./IN, ALLOWABLE LOAD —
REFER TO NOTES' 1, 2 AND 5 g;FFE*;UMmE%%STE‘;NDI 2;' gc-s - 2000 PSI CONCRETE OR GREATER N R
11, 2,5, 6, 7, _ 2000 PSI CONCRETE DR GREATER
e REFER 351 LBS./EXPANSION ANCHOR ALLOWABLE LOAD ST e A e s oL E
569 LBS./SCREV ALLOVABLE LOAD - 6° REFER T0 NDTES 1, 2, 3, 4 AND 5 PR Th Novpe DS AN IS
FROM ENDS AND 24° [O.C. $ 203 REFER TO NOTES' 1, 2, 3, 4 AND 5
REFER TO NOTES' 1, 2 AND 5
NOTES:
1. ANCHORS TO BE EVENLY SPACED BETWEEN THE HEADER AND
FLOCR.

2. FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF

THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR

DOOR HEIGHT

VERTICAL LIFT

INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING.
3. MIN. EGDE DISTANCE OF 3° REQUIRED.
4. USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER.

S, SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A
REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS IN
ADDITION TO OTHER LOADS.

6. MOST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL
NECESSARY PRECAUTIONS WHEN WELDING GALVANIZED STEEL.

7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER
OR INSPECTED BY A CERTIFIED WELDING INSPECTOR TO

VERIFY THE INTEGRITY OF THE WELD. REV | DESCRIPTION OF REVISIONS DAE Y
8 FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE '
SURFACE. '
9, TACK WELD TOE OF ANGLE AT SAME SPACING TO PREVENT AX Sl L 9
ROTATION OF TRACK ANGLE. MpX L, 72 v, :
. | 28 -
TABLE 1 TS SgRRALIEEN, 2
T DOOR TRACK ATTACHMENT SPLICE e £9 RV
HEIGHT| A B CTDJEJFJGTH]ITTUTK]TLIM]IN]JOJPJTQ]R]S]JTJUJV]W S oy Fas R A
PLICE TRACKS W/ - — - m ~ - - DESIGN LOADS| =& 2. . =
(4)-20 TRACK SPLICE 7 _[3.57]10" |22" |34" |46" |58 76 +50.0 PSF | &< e
BOLTS & NUTS 8 [35'|10° |22 |3& |46° [58" |70" 88" Z620 PSF | T3 g
| 2r 083 MIND DR 3¢ 12 GA. 9 [3.5'[10" [22" [34" [46" |58" |70" |62 100" ES 'z
MIN.> VERTICAL TRACK 10" [3.5"[10" |22" [34" (46" |58" |70" |82" |94" 112" 53 8
11 [3.56'|10" |22 |34" |46" |58 |70" |82" |94 |106" 124" S92 £
12 [3.5'[10" |22" |34" [46" |58" |70° |82° |o4" |106'|118" 136" LARGE MISSILE] £ 3 2
£ Z 13" [3.5"]10" [22" [34" |46" [58" |70 [82" [94" [106"[118"[130" 148" IMPACT 22 it
3 £ 17 [3.5'[10" |22° |34" |46" |58° 70" |82° |o4" |106"|118" [130" 142" 0| [RESSTANCE | Fa TX a
k 4 g 15 [3.5"[10" [22" [34" [46" [58" [70" [82" |94" |106" [118" [130" |142" |154" 172"
= 24 : 16 [3.6'|10" [22" [34" [46" |58" |70" [82" |94" |106" |118" [130" | 142" | 154" |166" 184"
£ Al 9 17 |3.5"[10" |22" |34" [46" |58" |70 [82" |94" |106"|118" [130" |142" |154" |166" [178" 196" arr
i : 18 [3.5'|10" [22" [34" [46" |58" |70" [82" |94" |106" |118" [130" | 142" |154" [166" |178" 190" | 208"
197 [3.5'[10" [22" 34" [46" |58" |70" |82" |94" |106"|118" |130" |142" |154" |166" |178" |190" |202" , 220"
200 [3.5"[10" [22" [34" [46" [58" [70" 82" |94" |106" |118"[130" 142" |154" |166" |178" [190" |202" |214" 232"
21" [3.5"|10" [22" [34" [46" |58" |70" |82" |94" |106" |118"|130"|142" |154" |166" |178" |190" |202" |214" |226" 244" MODEL 2400 AMARR 2402, 2412, 2422 (24 GA)
22" [3.5"[10" [22" [34" 46" |58" |70" [82" [94" [106"|118"[130"[142"[154"[166" [178"[190" [202" [214" [226"| 238" 256" MODEL 2000 AMARR 2002, 2012, 2022 (20 GA)
23" [3.5"[10" [22" [34" [46" [58" [70" |82" |94" [106"|118"|130" |142" |154" |166" |178" |190" |202" |214" |226" | 238" | 250" 268"
S 24 35107 |22° |34 |46" |58 |70" |82" [o4" [106" | 118" |130" |142" |154" |166" |178" |190" |202" |214" |226" | 238" | 250" |262" 280" SIE| DRAWBY SKN) DA 07/2/08 DRANMG NUVEER
AVAILABLE TRACK CONFIGURATIONS , , : : ‘ ; : B[ cecempy scu| DA 07/28/08 IRC-2409-177-21-1
N.T.S.
165 CARRIAGEAESS:TCSngﬁgN-SALEM, NC, 27105 SHEET 2 (F 3




TRACK CONNECTION TO WOOD JAMB OPTIONS WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL)

X 7

FOR LAG SCREWS & BRACKET SPACING SEE TABLE 1
2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3" LAG SCREWS STARTING 6" FROM ENDS THEN 20" O.C. (1 1/2" EMBEDMENT)

"1"l 2 X 6 VERTICAL JAMB ATTACHMENT TO 2.000 PSI CONCRETE

HILTI KWIK BOLT 3/8" X 4" STARTING 6" FROM ENDS THEN 24" 0.C. (2 1/2" EMBEDMENT)

1"

ITW/RAMSET REDHEAD (TRU-BOLT) 3/8" X 4" STARTING 6" FROM ENDS THEN 24" 0.C. (2 1/2" EMBEDMENT)
X 6 VERTICAL JAMB ATTACHMENT T = OCK

SIMPSON 1/4" X 3" TITEN SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS (3" APART)

AT 8" 0.C. (1 1/2" EMBEDMENT)

HILTI 1/4" X 2-3/4" KWIK—CON I+ SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS (3" APART)

AT 8" 0.C. (1 1/4" EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PSI GROUT)

HILTI SLEEVE ANCHOR 3/8" X 2—-3/4" STARTING 6" FROM ENDS THEN 22" 0.C. (1 1/4” EMBEDMENT)

(OR, USE FASTENERS FOR HOLLOW C-90 BLOCK)

HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 18" 0.C. (1 1/4" EMBEDMENT)

BRACKET MOUNT CONTINUOUS ANGLE MOUNT REVERSE ANGLE MOUNT *LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
: *PREPARATION OF WOOD JAMBS BY OTHERS
S5/716* x 1 5/8" LAG SCREW (D ?&(E?E;/%%D B\éﬁnyERszﬁYP) \ \
PER JAMB BRACKET (1-1/2* : . »
WOoD CONCRETE HOLLOW BLOCK GROUTED BLOCK
EMBEDMENT MINIMUM> (TYP) E STRUCTURE STRUCTURE STRUCTURE STRUCTURE
(] - - -
3
g i \ 1 \ - \ j \
INTERIOR OF GARAGE —»—————-l~ ——————L— ———I
1/2* MIN 2-3/4* MIN 1-1/2° MIN 4
—={  MAX. WIDTH 9'0"  |==— 2X6 JAMB
97 12 GA (MIN) VERTICAL ANGLE ATTACHED TYP. 34 MIN
7O wOOD JAMB W/ (3) 5/16 DIA. X 1~5/8° LAG
BOLTS AND TO TRACK W/ (4) 1/4°-20 x 5/8°
TRACK SPLICE BOLTS AND NUTS —_—
\ DZEZSQI%NLLBOSA)?-‘?'H HENENEEEE
+ .
X -284.1 LBS/FT  SEE NOTE 2
Z)
SPL'IEE TRACKS AT THIS LOCATION W/ <4 REV | DESCRIPTION OFREWSIWS DATE BY
L4 Tk S BT WS TABLE 2
1-5/8" LAG BOLTS:
18 MAX (1> LAG AT SPLICE LOCATION, _ i
(1> LAG MIDDLE OF VERTICAL ANGLE AND Secti Center Stile Locations MAX_SIZE _ =
<D LAG TOP OF VERTICAL ANGLE SPECIFICATIONS. AND_NOTES. GO | (Measured from Left Edge) WDOTH 97° | 23 NN N
1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE Width | fst [ 2st | 3rd PEGIT T 85 SREORTEN 2
VERTICAL TRACK, FROM THE TRACK THE LOAD IS TRANSFERRED () | (m | (n) | (in) 25 Son ey 8
W 5/16* DIA. x 1-5/8° TO THE VERTICAL JAMBS. THE HORIZONTAL JAMB OR HEADER 6'0 | 18.00" | 36.00" | 54.00" EE  Fxf  * )l 2
LAG_BOLT ATTACKED T0 JaMB RECEIVES NO PORTION OF THE LOAD TRANSFERRED FROM THE DOOR. 6]2 | 19.00" | 37.00" | 55.00" DESIGN LoADS| &  ZX: ... TN.lix9 8
2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: 614 | 20.00" | 38.00" | 56.00" Y500 PSE | g5 £ THOM T
12 CA. GALV. STEEL +229.1 LBS/FT & —284.1 LBS/FT 66 | 21.00" | 39.00" | 57.00" 52 485800 [ 2
ATTACHED W/ (> 1/4-20 x 5/8° 3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED 6:8 22-00:: 40-00:: 58-00: —g% h 0;\"'-</CENS€ & 2
TRACK SPLICE BOLT & NUT AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA. g (1)0 gigg 4;88 29-00" 52 W Sosigri e £
4. DOOR SECTIONS SHALL BE 24 GA. (.022) MIN. EXTERIOR SKIN R T Ty A I WAL 3
TRACK ATTACHMENT CAN BE BRACKET ROLLED FORMED, W/ BAKED ON POLYESTER FINISH . T — — RESISTANCE | =& TX P
MOUNT, CONTINUOUS, REVERSE ANGLE o N 74 | 26.00" | 44.00" | 62.00 Q
MOUNT'OR_TAPERED REVERSE ANGLE 5. DOORS UP TO 24'0" HIGH USE (1) 3 5/8" R—TRUSS PER SECTION 716 | 27.00" | 45.00" | 63.00"
CONFIGURATIONS) AND (1) 2" 20GA STRUT ON BOTTOM SECTION 78 | 28.00" | 46.00" | 64.00" rr
7]10 | 29.00" | 47.00" | 65.00" ( l
, ALL TRACK BRACKETS AND TRACK 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED - y - T
127CTYP) VT Y RIVETS R (b 17450 BY A REGISTERED PROFESSIONAL ENGINEER FOR WIND LOADS P o Z000 L 0650
64"~ Pl & NUT INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS. sli 300 T 5000”1 6s.00°
3& A R R KT TR omRACK < 7. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH THE 816 [ 33.00° | 51.00° 1 69.00" MODEL 2400 AMARR 2402, 2412, 2422 (24 GA)
I ] : : : MODEL 2000 AMARR 2002, 2012, 2022 (20 GA
INDICATED 2018 IRC/IBC 518 13200 | 5200" | 70.00" 022 (20 GA)
810 35.00" | 53.00" | 71.00" SEE| ORAWN BY  SKW| DATE  07/29/08 DRAMNG NUNBER
TRACK_CONFIGURATION FOR UP TO 24' TALL DOORS 910 | 36.00" | 54.00" | 72.00" B | oieckm Y skw| DA 07/28/08 IRC-2409-177-21-1
92 | 37.00" | 55.00" | 73.00" AWARR CONPANY
165 CARRIAGE COURT WINSTON-SALEM, N.C, 27105 SHEET 3 OF 3




